=3 e |
E%IE | 2024438 4R |

FLET LR E /R 2024 FHEITEFTTE AR AR/ 20244F ]
' = I

| Kt
HY
I

N
|
ol il

4R 5H 7 H 8H | OH 10R | 11H | 1 2H 3H
F1H4-5A[HEBH=553] F28i6-7-8- 9 A[EHH=IEI1F £3] F3H10-11-12-B[FEREH=FDH L] F481-2-3A[REEH=FEH&KI]
2 9257@
AZB At 1zk§%g§@ﬁmﬁ) ||  Emes@e 1|8 2o vouF—0 | 1|4 1| & %033 1% BEREE 1 |4|etm26 1lm %368 1k e 1|+ 1|+
" (1 - 2%)
v . ' £8£20
. 3| =2 T _ z . N — q o= g
2| K gg)gémﬁ (3-41,0p E%%EEE PIPN X ESO) 2 |4 2| A ;ﬁjz@aﬁ 2 K |#HBERBD 2|+ 2| H|MBROVDUT—D [ 2|k 2| H %4558 2| H %4958
XA o) P2 B= (1 R 2-’f=|5)
EE)}%;E%{*#E é*}:iﬁ,&@ %3 Z‘EI %E%@ . .
3[4 B EHE 3[H | EB=FiKE 3|k 3|t 3[R |ERHZ@ 3| K|y mmaze 3|H i 3|k [ERHAROD 3|4 3| BMREDUVOUT—O@ | 3|/
Z82% e (1-2%)
E2RHALQ
4]+ HEYDA 4 k|MFHEEZ (18- | 4K 4|H %198 4|k |EERTO 4|4 |#HBERHO 41 H REKRAE 41k 4|+ PN EXAEHG) 4| k|eR#EEO
<& -6-1-6-2)
N SELmA N st g ‘ U
& 5 H =63 5|k 5|4 5(H 5| K12 RITO 5|+ 5k 5(& 5(H =418 5|7k 5|7k
6| A wEKE 67!<EI£)H§§?(2$'6_3' 6|+ 6|k 6| 4|6 EmEER 6|H %2858 6|7k 6|4 6| A 6| Al1BAZE 6| A&

%258 UPS 7|4 7| B %1558 AV 7|+ 7| A |1BERKD 7K 7|t 7|k 714 714
EER - %X
#BEHEL) 8|k 8|+ S| A|EZEEL£B 8| A 8| B £2 458 8| k|EHERAFEIHE 8|4 8| H ¥£37:8 8|k 8|+ 8|+
AR

9570 AEHEAPE28E
9| A& 9| H %1158 9| k 9|4 I AIBMBEEDVDUT—@ |9k NA—Z2—F7 L4 9|+ 9| H 9|k 9| H ¥4 658 9| H $£5 058
(1 24%) (BF 5} £ H16R)
—ers _ BP0 i
é%gﬁiigf) 10| 4 |EmER (240 10| A [EREOVOUTF—@ |10|k|&EER 10| + 10| % é%?iggf' 10| k|5 £xmmR 10| F #3358 10| % 10| & 0|5 |2B2® B 10| A
(1-2%) BEXAR
58 (3 - 4%) %208 LThay, : BRE® it -
é;ﬁi@ﬂl 11| | &R EYR 11| K|ALBAEOHRES 11| A|EREYR (ERREUR)  [11[ B LoH 11] & Y- S =] 11| 4|8 EHKG 11| B |BEBREOUVOUVF—6 |[11|k 11|+ 11fk BEZESOH 11|k
¥ 5FET R
1 EA B i
S| Z5HE (1 - 2% -h |12|H %758 12|k 12| 4 12| H =R =] 12|kl 9. BEEIX. 12| + 12| & 12| A 12| H E42H 12|k 12|k
B 7 AIEiRT
Z8=0 RIS . 3. L )
13| A [MEREDUDUVT—D 13K g”ﬁ“’ (1-3-5 |4 + 13|k 13[4 ‘J: ) ZTHA 13| H £2 98 I3[ |REARBED 13[4 13| A RADHE 13| A& 13| A
(1 - 24) D cy Lid—o
%358 14f & 14| 4 E:ﬂ;ff((g) 476 |4l %1658 14|k 14| + 14( A AR—YDA 14| A(REARBQ 14+ 14| & 14| 4 14| 4
BRBARE (64F) 15|k fiiﬁgi?@ (4- 15| 1 15| A BOHE 15| K 15| B %2558 15 K [BEHHKO® 154 15| H %383 15| 7K 3?%%$ﬁ HERD |jgf 15| &
BHEE (4F - HH i
Cx) mggE2 - 5 |16| 4 16 F %128 16| 16| 4 16| A HEOR 16| k|gE B m:tﬁﬁf*ﬁ(ﬁﬁﬁﬁ 16| 11 |zB2® 16 4 16| F %478 16| F %5138
F (28 AE) Bt
BHRE (55) : o
RELEHE (1 - 17| 4= 17| A2 57®@ 17|k 17| + 17|k 17| A& 17| B £3 458 17|k 17| 4= 17| A ’E)ﬂﬁﬁﬁk’@ﬁﬂ (~21 1., A
2. 3%)
RAKRE (35)
2EFH - FEWKHHA |18| L+ 18| k| EE8FKRZ (445) 18 A& 18| H F£2 18 18{7k 18( 4 18| A | FEREZ=IRBIARER [18|K 18| - 18[k 18[k
=
o Cran (smm~) || A 0| KFEETT FP Lol 19| A 19| A¢ 19| +: 19| 2k S 19| A %438 19| & 19|k [BEEER 6 4
£ER
20| H|ZE£@ 20| A 20| & 20| %k 20| 4 20| A %3 08 20| 7k 20| 4 20| H |IREBBDUVDOUT—® |20 A 20[ A E50H
(1 - 2%)

% 458 21|k 21| & %)ﬁ*ﬁﬁ (25F%2 21| H £178 21| 7k 21| + 21| H|ZEE£®D 21| A& 21| + 21| & 4(?;%%37(;\:_?%' 21| 4 21| 4| 22 %K
BHRE (24) 20|k 29| + 22lnlo55@ 22| A 29| ecceteds ool k| HEFHOFEES |22 2 29| %39 20| Kk 29| + 09| +
Efﬂrﬁi‘{zmé{(; SR PP PR 23| A %138 23|k 23( & 23| A wREKE 23[ 7k 23[ +: gHRHOE 23( A 23| & 23| g fgﬂ;ﬁsé@a 23| B =505

3:5F -hh{&E
FEORE (4%) 24| £ 24| A|ZEE® 24| & 24| + 24|k 24| A 24| H E£358 24| k 24| BB RF—2F (EBEE 24| H REARE 24| A
L)
BhRE (14) 25| T E#= 25[k 25K lfmg#it WEBD o5 %228 25[7K 25| 4 25| H|ZEB=0O 25| 7k S?‘%ﬁ*ﬁ MRS o5 + 25|k 25|k ﬂfz)ﬁ REL (LR
S || ERRTHEE [ o6l4|  mmthzigE 6| g PTMERR RS |0 o4 e soensmRse]|oe] - 26| K 26| A 26| %4 438 oo| | EBBB (1 - 28 | o]
5 9E Y) Hh< &)
271 smsra12E 27| AR 27) 8 UES smaErms L |00 27| A %3158 27| 7k 27| & 27 8| % g 07| k|smmey (3 - am) |27
Lie s WE7, ZHZ 959D (B KR I
e o L|RRRE (3F - 4-1- |, e 1 o A >, ThEFRED oal . . .
%58 28| K (4 9y 28| 4 28| H %188 28| K| rlzEHT BZF |28 28 A Zg%ﬁo)ﬁté%m%; 28| K's & = asyemgmaas |28 T 28k 28| | SEIBE (5 - 65) [28|&
ETY., BRI, -
RFnm 8 29| 7k 29| + 29| H 29| K 7 BIZERIZ & 29| H E£2 78 29| 'k 29| & 29| H F4 058 29| 7k 29| =
YETHHMLHE
| A0 - 4-3 - L,i o Sl
BHBRE (24) 30| & EZ')Hﬁ“” (5% - 4-3 30| H %1458 30| k& 30| 4 K 30| A %;u;g%ﬁ 30| 7k 30| + 30| A 30| & 30| A
3-5F -hmnE
31| 4 31| &k 31|+ 31| A 31] 4k 31| &|HRF—2T (BE 31| H
L)




